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HOME SCIENCE
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Following fat is the richest source of MUFA :
(A) Sunflower Oil (B) Soyabean Oil
(C) Coconut Oil (D) Olive Oil

2.  Major function of Zinc in the human body is
(A) Haemoglobin synthesis (B) DNA and RNA synthesis
(C) Bone health (D) Vision

3. A menu where food items are priced separately is called
(A) Table d’ hote (B) Du Jow
(C) Setmenu (D) A'lacarte

4.  While washing cotton fabrics colour can be prevented from bleaching by using
(A) Vinegar (B) Common Salt
(C©) Sodium Carbonate (D) Lissapol

5.  Give the correct full form of SASMIRA.
(A) Silk And Synthetic Mills and Research Association.
(B) Synthetic & Art Silk Mills and Research Association.
(C) Silk And Art Silk Mills and Research Association.
(D) Standards And Specifications of Mills & Research Association.

6.  Sandpaper, cotton and fabric are examples of variation in which element of art ?
(A) Texture (B) Line
(C) Shape (D) Colour

7.  Ecological theory was propounded by
(A) Konrad Lorenz (B) Albert Bandura
(C) Brofenbrenner (D) Ivan Pavlov

8.  Sri Niketan Project of Rural Development was initiated by
(A) Mahatma Gandhi (B) Rabindra Nath Tagore
(C) Vinoba Bhave (D) Swami Vivekanand

www.examrace.com



UEACEIC]

wga — 11
e =0 I A T (50) T 9 & | U WY Al (2) 3R | el IR Siar ¥ |

1. 99 99 TI.g.U%T. 1 GaH qEE €

(A) TIE & A (B) QS T e
(C) I T aA (D) SIqA T A
2. THT IRR H N (ST & 57 H T
(A) eI T FeeuoT (B) TITAN. 3R SXTAT, FH HLATUT
(C) e wreA (D) 3
3. 9% U STel W U i hiAd STeT-STerT foral ST &
(A) ST S BT (B) g
(©) T (D) Te HE
4. IO TS F YA F GHT T Fehor T 9 % [T ST AT FRAT ST HehelT &
(A) Fawer (B) QRO AHeh
(C) Wifeaw FHEHS (D) forame

5.  SASMIRA %I G& qof €9 Ty |
(A) faow woe fadfes faew woe fad waifdem
(B) T&dfes woe o1e Tooe foq uve R waitaay
(C) Taow uvE 21 o fiew woe R uairaas=
(D) ¥WegH Uve WARHI 3 fiew wre fae vaiteaem

6. TSUW, i qAT Hiseh oAl & [hg v & IZeATe & IS & 2

(A) TFR (B) @A
(C) ¥ (3MHR) (D) TR (@)
7.  SHIANTRA (g ot ToT & o
(A) FiE AR (B) FeaC TG
(C) FTHETATR (D) T U
8.  TrHr forehry o oI &t feherT oSt w1 3T T foma o 2
(A) TETeHT E (B) fosTg &R
(C) fadter 9 (D) @l fgasm=

www.examrace.com



9.  Kirishi Vigyan Kendras were launched for
(A) Promoting vocational training among farmers.
(B) Promoting credit facilities among farmers.
(C) Promoting agriculture among school students.
(D) Promoting credit facilities among college students.

10. When a hypothesis is false but the experimenter mistakenly accepts it, she is making a
(A) type one error (B) standard error
(C) probability error (D) type two error

11. Principle of complimentary action of proteins is used to improve the quality of protein in
following food preparations :

L Idli II. Missi Roti
III. Vegetable Pullao IV. Mathri

V.  Khichdi

Codes :

(A) I, II'and III (B) II, Il and IV
(©) LIVandV (D) LIand V

12. Iodine deficiency disorders include the following :

I.  Goitre II.  Stillbirth

III.  Osteoporosis IV. Mental retardation
Codes :

(A) I, IIand III (B) L IlandIV

(C) L HIandIV (D) II, Il and IV

13.  Which of the following are intangible tools of management ?
L Leadership II.  Organization chart
III.  Communication IV. Work schedule
V.  Decision making

Codes :
(A) LILIV (B) LIV
(C) IL LV (D) ILIV,V

14.  Which of the following are French designers ?

L Dior II.  Chanel

III. Anne Klein IV. Yves Saint Laurent
Codes :

(A) LILII (B) IL I, IV

(©) NI IV, I (D) IV, L1I
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15.  Which of the following are twill weave fabrics ?

L Gabardine II.  Drill

III. Calico IV. Sergé
Codes :

(A) LIL I B) LILIV
(©) 1L 0L 1v (D) LIV, 11

16. Identify the organizations related to consumerism.

L CFBP II. CERC

III. SERC Iv. ILO

V. VOICE

Codes :

(A) I,Iand IV (B) L ITand V
©) LIVandV (D) 1L III and V

17. Howard Gardener proposed 8 types of intelligence, that included :

L Interpersonal skills II.  Naturalist skills
III.  Fine Motor skills IV. Musical skills
Codes :

(A) I, II'and III (B) II, Il and IV
(C) L HIIandIV (D) L land IV

18. Some of the emerging aspects of extension are
L Participatory Approach
II.  Increased use of media
III. Teaching extension education in schools
IV. Privatisation of extension

Codes :
(A) I, IIand III (B) I, Iand IV
(C) 1II, I and IV (D) I, I and IV

19. Indicate the qualities which can increase the effectiveness of a communicator.

L Knowledge of message II.  Heterophily
III.  Positive Attitude IV. Empathy
Codes :

(A) I, II'and III (B) L IIandIV
(©) LIandIV (D) II, Il and IV
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20. Properties of the Normal Distribution :
L Terms tend to cluster around the point Z = 0.
II.  Positively skewed.
III.  Asymptotic to the horizontal axis.
IV. Symmetrical around the vertical axis.

Codes :
(A LILIV B) LIIIV
© LI II (D) IL I, IV

21. Assertion (A) : Inclusion of plenty of fruits and vegetables in the daily diet are protective
against certain types of cancers.
Reason (R) : Fruits and vegetables are rich source of phytochemicals.
Codes :
(A) Both (A) and (R) are correct, but (R) is partial explanation of (A).
(B) Both (A) & (R) are incorrect.
(C©) (A)is correct, (R) is incorrect.
(D) (A)is incorrect and (R) is correct.

22. Assertion (A) : Egg acts a leavening agent in the preparation of mayonnaise.
Reason (R) : Lecithin in egg prevents the separation of fat and aqueous layer in
mayonnaise.
Codes :
(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are incorrect.
(C©) (A)isincorrect, (R) is correct.
(D) (A)is correct and (R) is incorrect.

23. Assertion (A) : QWL describes values that relate to the quality of human experiences in

the work place.

Reason (R) : QWL is affected by factors that relate to the work, to the work environment
and to the employee personally.

Codes :

(A) (A)is correct, but (R) is incorrect.

(B) (A)is incorrect, but (R) is correct.

(C) Both (A) and (R) are correct and (R) is the correct explanation for (A).

(D) Both (A) and (R) are correct, but (R) is not the correct explanation for (A).

24. Assertion (A) : For infant wear raglan sleeve is considered most appropriate.
Reason (R) : Raglan sleeve being set-in sleeve gives more room for movement.
Codes :

(A) (A)is correct, (R) is incorrect.
(B) (A)is incorrect, (R) is correct.
(C) Both (A) & (R) are correct.
(D) Both (A) & (R) are incorrect.
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25. Assertion (A) : Textured yarns & permanent pleats are produced by reforming materials
at their Tg’s.

Reason (R) : The glass transition temperature is the point where crystalline regions of the
fiber develop flow or melt.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.
(C©) (A)is correct and (R) is incorrect.

(D) (A)isincorrect and (R) is correct explanation.

26. Assertion (A) : Planning permits the action or work to be seen as a whole.

Reason (R) : Planning is essential to forecast future actions and it comprises of decision
making.

Codes :

(A) (A)is correct, but (R) is incorrect.

(B) Both (A) and (R) are correct.

(C) Both (A) and (R) are incorrect.

(D) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

27. Assertion (A) : Private speech in children represents an early transition in becoming more
socially communicative.

Reason (R) : When young children talk to themselves, they use language to govern their
behaviour and guide themselves.

Codes :

(A) Both (A) and (R) are false.

(B) (A)is true, but (R) is false.

(C) Both (A) and (R) are true and (R) is the correct explanation of (A).
(D) (R)is true, but (A) is false.

28. Assertion (A) : 73 and 74™ Amendments to Indian Constitution are important milestones
for Women’s Development in India.

Reason (R) : Political participation of women is important for empowerment of women.
Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) (A)is correct, but (R) is incorrect.

(D) (A)is incorrect, but (R) is correct.
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29. Assertion (A) : In order to make development programmes effective, the approach and
procedure must be culturally appropriate.

Reason (R) : Culture is passed on from one generation to the next through
communication.

Codes :

(A) Both (A) and (R) are incorrect.

(B) (A)is correct, (R) is incorrect.

(C) (A)isincorrect, (R) is correct.

(D) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

30. Assertion (A) : The correlation coefficient is the mean of the cross products of the Z
scores of two variables.

Reason (R) : The units of measurement of the variables have absolutely nothing to do
with the correlation between the two variables.

Codes :

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(C) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(D) (A)is false, but (R) is true.

31. Give the correct sequence of the stages of development of atherogenesis :

L Embolus II.  Fibrous plaques
III. Atheroma IV. Thrombus

V.  Fatty streaks

Codes :

(A ILV,IOLIV &1 B) V,LILIV &I
©) V,ILILI&IV (D) V,ILILIV &1

32. Arrange in correct sequence the processing steps involved in manufacture of Black Tea :

L Withering II. Rolling

III. Drying IV. Fermentation

V. Blending VI. Grading

Codes :

(A ILIOL LIV, VIand V B) LILIV,II Vland V
(©) LILILIV,Vand VI (D) ILLIV,V, I and VI

33. Give the correct sequence of steps in buying non-perishable foods for food service

institutions :
L Develop purchase order II. Write specifications
III.  Award contract IV. Issue bid request
Codes :
(A) LI IV, I B) ILLIV,II
©) IV, IL L1 (D) ILIV, L1
Paper-1I 12 D-12-14
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34. Give the correct sequence for preparing the fabric for draping :

L Measure the dress form II. Tear the fabric

III.  Press the fabric IV. Block the fabric

V.  Mark the fabric VI. Straighten the fabric
Codes :

(A) ILIOLILV, 1V, VI (B) ILILILV,IV, VI
© VLLILIV, LV (D) V,IV, VL LI I

35. Give the correct sequence of traditional cotton making process :

L Opening & Carding II. Spinning

III.  Ginning IV. Hand Picking
V. Weaving

Codes :

A LILILIV,V (B) ILLIOLIV,V
©) IV,ILLILV (b)) HILLILV, IV

36. Arrange the household activities according to ascending order of workload :

L Ironing II. Dusting

III. Mopping IV. Dish Washing

V.  Chopping Vegetables

Codes :

(A ILLIILIVand V (B) L V,II,IIIand IV
(C) 1L V,L1IVand III (D) IV, V, I, ITand I

37. Arrange the following Legislations in order of their year of enactment (ascending order) :

L. HAMA II. JJI(C&P)Act
III. POCSO IV. PNDT

Codes :

(A LIV, 1II, 111 B) LIV,IILI
©) ILLIILIV (D) IV, LIL I

38. As per the Evrett Rogers’ Diffusion of Innovation model, the sequence of categories of
adopters is

L. Late Majority II. Laggards

III. Innovators IV. Early Adopters
V.  Early Majority

Codes :

(A IV, V,LII I (B) LILIOLIV,V

©) ILILIV,V,I (D) HLIV,V,L1II
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34. 3T % o0 U I FIR HA B Gl 5 ST

I 3 % & AT I IS A FIEA

[I. U Bl TR B IV. HUS Hl sATh Bl
V. HUg W H¥E A VL IS I Grer

E TR

A ILIOLILV,IV, VI B) HOLILILV,IV, VI
© VLLILIV, I,V (D) V, IV, VL LI1I, 11

35. ga-fmioT 6 TR uishar S 9el ohH ST

I 3TUfAT Uog e . et
.t V. &g fafsmT

V. difa

ETE

(A LILIULIV,V B) ILLIOIV,V
<O IV, ILLILV (D) HOLLILV, IV

36. FHE-YR & STRIEN 567 | TJeehrd i ATl i aied & ;

|- ke | . STE-Us HET
[ T e IV. 9 i

V. sl S

ETE

(A) IL LI IV 3R V (B) L V,ILII 3R IV
(C©) 1LV, 1,1V 3R I (D) IV, V,II, I 3R 1

37. 1 foumaEr & 3 AaFEEE au o AR 9@ A | o

[ U9 U UH T LSS (ue ) erfafrem
[ o 7. & T4, 3. IV. . T e an

E R

(A) LIV, IL III (B) LIV, I

(©) ILLILIV (D) IV, L II III

38. Ui ISR & FeWIsH 31 SHIAYH Hige % AR TS’ & GarTl 1 51 TedH :

| I A= K11 EC I ome™

. g IV. 37l uered
V. 3Tl Aeiier

E R

(A) IV, V,L 1L I (B) LILILIV,V
(©) ILULIV,V,I (D) ULIV,V,L1I
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39.

40.

41.

Sequence the various functions of Management in extension.

L Planning II. Directing

III.  Co-ordinating IV. Reporting

V. Organizing

Codes :

A LV, ILIL IV B) LILIOLIV,V
©) V,LILIV, I (D) LIV, ILIV

Arrange the following steps in correct sequence :

L Arrive at Statistical Conclusion.

II.  Analyse Data.

III. State the Research Question

IV. Collect Data

V. State Statistical Question

VI. Arrive at Research Conclusion

Codes :

(A) HOLIV,V,IL I VI (B) OI, V, IV, L 11, VI
(©) V,IOLIV,IL I VI (D) 11, V, IV, 11, I, VI

Match the nutrients in List — I with deficiency symptoms in List — II.

List - I ] j:st{- II

a. Protein i. Dementia
b. Folic Acid -..ii:' Osteoporosis
c. Thiamin ) (1 " ossitis
d. Vitamin D iV} icrocytic anaemia
e Ribqﬂaﬂ‘ v. ' Macrocytic anaemia
#4 %, vi. Neuropathy
_ ’ vii. Flaky paint dermatitis
Codes :
a b ¢ d e
(A) vii, v vi il iii
B) i v ooiil il vii
(©) vii  iv  vi il iii
D) 1 i v vii
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39. fowarwE ° ey & fafa=r st & 98l sy adTt

L fEs= I e

. g9 IV. fdegA-s
V. EieAHSal

ETE

(A) LV, ILIIL IV (B) LILIILIV,V
(C) V,LILIV, I (D) LILV,ILIV

40. fTATARGT =ROT i T&l HH F T
[ witerssE ey T ggemT
I 3ifhe F fawermo
I Y o e
IV. 3T 3hgT BT

V. Hiege U9 we
VI. ¥y ey ) aga

®:
(A IOLIV,V,ILIL VI (B) IL V,IV,LII VI
©) V,IULIV,IL L VI (D) 1L V,IV,IL I, VI

41, o1 fed T e et 6 -1 A e ane faet & e gafer 4
T -1 mﬁ II 4
Bﬁé:r i.

Z il -
Z. il (%XW
Jﬁl. Wgﬁ

i,V woTeRl U eHeEley

(A) vii v vi i il
B) i v i il
C©) wvii v vi il il

D) i i v vii
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42. Match the Physiological groups given in List — I with RDA of iron in List — II.

List -1 List - 1I
(Physiological group) (RDA of iron mg/day)
a. Adult man i. 35
b. Pregnancy . 28
c. Lactation . 27
d. 13-15 yr girl iv. 26
e. 16-17 yr boy v. 21

vi. 17 a2
Codes :
a b c d e
(A) vi i ivooi iii
B) v v vl il il
(©) vi i v il ii
D) i i v v

43.

i.

Match the approaches to management in List — I with their characteristics in List — II.
List -1
a. Systems approach

k| L

An overall

constant improverent il an organization.

b. MBO ii.  Saves costg of stor@ge space, time and effort

c. JIT iii. A set of inter-relat s with a purpose.

d. TQM iv. Managers set their within the preset
establishment goals. g

Codes :

a b c d
(A) il i iv i
B) iv ii i iii
©) ii iv i iii
D) i1 v i i

44. Match the pr1nc1ples of demgn in the List — I with their examples given in List — II.
List — List - IT
<% j_)' Balance Gradual change in colour in a dress.
b. Proportion \ Bow at the neckline.
c. Harmony An empire-line dress.

‘;1 ]jmphasm Square yoke with square neckline.
> Gathers coming from neckline.
Codes :

a b c d
(A) i i iv
B) ii 4 i il
©) iv i i \%
D) v i iv i
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42. G- I¥ 53 T REentseer 79 & gt — [1H 53 A % SN, & 91 gAfed ¢ |

e -1 et - 11
(Refraterforese qw) (& BT AT mg/day)
A, A IO i35
b. T i. 28
c. WAUM AT W@ Aieem il 27
d. 13-15 a9 31 ST iv. 26
e. 16-17 9 37 S v. 21
vi. 17 Y
E T
a b c d e
(A) vi i iv i i
B) v v ovioii il
< vioi \% mioi
D) i ii i iv. v
43, Gt —I¥ {3 T weEE % SUTTH B gt — 1 H 13T T 39 1ereion o arer gaferd &Y |
et -1 Tt - 11 o
a. foeg3mm i A § Had uR & T S el HehodHT
b. THEa. i, YERY I, T AR I ST
c. I, iii. 3TYI F T ST <
d. S iv. e U @ % LA B 30 TR & adH e &
3T FA | s
E T
a b c d
(A) i i v i
B) iv i i iii
O i v i 1i1

D) i v i i

i M e & O H Hi agee
(b. 3 -"}i. T W
1

c. THEU ii. | TR @A 39
fd. Ry iv. TR A, TR Tl
> L v. T W

E T

a b c d

(A) 1 il i iv

B) i v i i

<O iv 1 il \%

D) v Qi v i
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45. Match the Linear density units in List-I with their explanations in List-IL

List -1
a. Denier
b. Tex
c. Decitex
d. Micro denier
Codes :

a b c
(A) i iv i
B) iv v i
©) v il dv
(D) ii i i

List - IT

Weight in gms of 10,000 mts of fiber or yarn.

Used for fibers smaller than 1 denier.

Weight in gms of 9000 mts of a fiber or yarn.
Weight in gms of 1000 mts of a fiber or yarn.

Weight in gms of 840 mts of fiber or yarn.

46. Match the items in List — I with items in List — II.

a.
b.
c.
d.
e.
Codes :
a b
(A) vi iv
B) i iv
©) i i
(D) iii v
47. Match List — I with List- II.
List -1
: Authorlﬂt‘ e
- Autﬁoritaria}y
. Indulgent
. Neglectful
v
L # L
Codes :
a b
(A) i il
(B) iii v
©) iv \%
(D) i i

< = < < 0

List-1

Consumer Protection Act

The Essential Commodities Act

The Drugs and Cosmetics Act

The (AGMARK) Agricultural Product Act
The Standards of Weight and Measures Act

2
i

il.
1il.

iii
il
il
ii

List — 11
Uninvolved
Over protective
Warm and Nurturant
Punitive
Low control
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45. g -1 ¥ 53 T olifar Sfaet gfHes #t ge — [ H &t 72 =amen & 9 gafad S |

e -1 = - 11
a. TR i. 10,000 TeX % T AT 4T H UMW § a1
b. T ii. 1R F FE F foTw W
c. SHRTT iii. 9000 e % T=q AT 4 I UH H o
d. e SR iv. 1000 Tex & d=q a1 &R H U9 H oo

v. 840 HieT & =] A1 &7 H AW | Fo
E T
(A) i iv i ii
B) iv v i i
<O v o oivoi
D) i i v

46. T — [ AT GEAT — 11 1 1T & A1 FAfAd oL |

T -1 = - 11 S J MmN F
0. ST G sy i 1937 ( ¢
b. IawEE A% Ut ii. 19766 = » )_‘
c. 3y ud Wigd wre sttty iii. 19 Y
d. T HY U AfufEg iv. 1955 '
e. oI 3R U HHH SHaw v. 1940
vi. 1952

E T

a b c d e
(A vi v v i iii
B) 1 v v vi il
© i vi 1 \% 1ii
D) ii iv v i il

47. o — 1% e g - 11§ i |

‘!ﬁﬁ—l Y T g&-m
"r@-or:rra%ran?f
(J@ﬁgﬁréﬁ \\111 ﬁ%ﬁ@r
iv. SeTIE
V. ﬁn:rﬁ?ﬁwmﬁ

(A) i i

B) i1 v v
<© iv v ii
D) ii m v

e e e )
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48. Match the development programme in List — II with the problem it addresses in List — .

List -1 List - II
a. Institutional Delivery i. NLM
b. Primary Education ii. MGNREGA
c. Functional Literacy iii. DPEP
d. Wage Employment iv. JSY
v. SGSY

Codes :

a b ¢ d
(A) iii i 1 v
B) iv i i ii
<) v R G 11
D) it i 1 A%

49. Match and relate items in List — I with those in List — IT

List - 1 N F
a. Platform for Action i ( é
b. Mahila Lok Adalat ii. ] ‘
c. Rashtriya Mahila Kosh iii. f
d. Self Help Groups iv. ion on Women
v.  Natipnal Litdracy Mission
Codes :
a b ¢ d

(A) i Qi i A%
B) i iv i il
<O i i iv v
D) i v il \%
50. Match the items in List — I with List — II.
List-1 g% 2 List - II
a. Chi square test ( !i 1. Standard score
b. Spearman rank orde)t st ii. Non parametric before and after study
., t-test ’ 1 iii. Non parametric correlation
. Sign test ‘,\\ iv. Observed expected frequencies

. Zscore v. Difference between two means
. vi. Difference between more than two means.
Codes :
a b c d e
(A) iv i ovioil iii
B) iv i v ii i
© iv i i v i
D) it ivovi il i
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48. T - 11 ¥ f3u MU fgehra gores skt i gt — [ 1 339 Fafva o=t 6t gafad w{ |

T -1 =t - 11
a. genHe fefleet i NLM
b. i ferem ii. MGNREGA
c. HATHE TR iii. DPEP
d. TSI ASFIR iv. JSY
v. SGSY

E T

a b c d
(A) i i i iv
B) iv i i il
<O v il i 1il
D) iii i i v

49. Gt — I 3 GEr — [1 Ht Feitad T3T Sl AT HL |
-1 -1 y AN
a. WITHH B UM i, om wfe . ( 4
b. TieeT A TR ii. @S Hihe ™ - )‘
c. T HiEaT Higt iii. ATESHT hige - Y
d. @ TerEd T iv. T AfgeT I
v. TS FERar

E T

a b c d
(A i i i A%
B) i v i iii
<O i il v v
D) i v il \%
50. qzﬁ—la%nﬁﬁqzﬁ—na;wgﬁﬁaaﬁ |
it - 11

a. a"r%aam }1 T @hIT
b. Fﬂﬂ?ﬁ?g?@?é? ii. 3TIT % UEd Y 9% el

iii. 3MWTETIE FEHeY
T e \‘ v, Sfere onife s
(-ﬂ v. g e % 6 3T
vi. =R s AT & 9 s

a d e
(A) iv i vi ii 1ii
B) iv qii v ii i
© iv d il v i
D) i iv ovi il i
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